fraction/bin

Ratio to ATLAS

[HEN
AN

=
N

[EEY

0.5

10

13000 GeV pp Jets
— T T T T — 1 1 " 1 T — T T T T 1 T T
uE i | He
B Relative P, (ATLAS jet fragmentation) 13
u =
m  ATLAS P
- —— Pythia 6.428 350 N
— —A— Pythia 6.428 370 12
- Pythia 6.428 380 e
—o— Pythia 6.428 p0 1@
| --3-- Pythia 6.428 p2010 &
B o
" 12
€3 ™
u ©
o
- ™
—
- =
— X
u S,
=
— o
- £
()
— o
- [%2]
I
B o
- o
| S
I
— 2
1
L —0.5
| L 1 L 1 L 1 L 1 L | L 1 L 1 L 1 L 1 L | L 1 L 1 L 1 L 1 L |
0 1 3

textrm{re 2 "
5* (positive values only)
textrm{



	Contents
	Page 1


